R R

mSEEL 2/21 - v

=g axfi 1 axfi 1

R 1. d LT
2. d 2. F

I 3. ¢ 3. F

axfi 1 4. a 4. T

1. e axf] 2 5. F

2. ¢ 1. d axfil 2

3. g 2. b 1. ¢

4. b 3. ¢ 2. b

5. h axfl 3 3. ¢

X[ 2 1 ¢ 4. ¢

1 ¢ 0 oc axfil 3

o o3 N a 1. d

N = d 2. b

= ¢ ax ] 4 3. b

= b A a axft 4
B. d 1. d

II 2. d

a1 I\Y% x[H] 5

1. b A% 1 b This reflects a change in

2. a axfi] 2 b government policy.

3. a axfl 3

4. a {1 a

axf] 2 o d

1. b N a

2. ¢ = b

3. a ax ] 4

axfl 3 The risk remained even if sitting

4 b was broken up by standing and

T a walking.

N 2

= b

x4 d b 3 W ; .
#ZW5  the endless amount of )& _%

data doesn’t tell the whole story Attend Cram School to Keito & Waseda



